DBV-BBO-Liga 2007-10-10  Munich – Dortmund

Review by Al; Wednesday, October 10, 2007

There were many many mistakes by Yvon and me and by opponents. There were only few minor mistakes by Karl and Mihailo. 
We gave up in the saldo 95 IMPs. We lost by 43 IMPs. So opponents shed about 52 IMPs. 
This was not a match of which our opponents or Yvon and me can be proud. 
I noticed where we gave up IMPs and anybody may look, what is his charge.
	Board
	Comment
	IMPs gave up
	Gave up 
total

	# 1. 
	My 2S opening has the flaw that I’m lacking the intermediates in the trump suit
The raise to 4S is misjudged. This hand has a lot of defense potential, but few good things for the offense:

a. Only 2 trumps

b. Only 1 first-round-control

c. No singleton or void, so no ruffing value.

My advise is to pass the opening. It is ok with me to put some pressure on the opponents with a preemptive 3S.
Playing 2 or 3 I would have made 9 tricks. So I was hoping for an miracle (And didn’t play well, I admit)
Instead of winning 190 = 7 MP we lost 2
	7
	7

	# 2. 
	Normal contract. Unlucky lead by Yvon. But it is a choice of evils what to lead in this hand.
Every lead is bad. Same play at the other table
	
	

	# 3. 
	Here both tables missed the excellent 6D-slam.
Maybe it is my fault. I should raise the diamonds first, to set the suit, and show my spade feature later. After arise to 4D, Yvon had bid the slam for sure. Gave up: 500 = 11 IMP
Bidding should be something like: 
2C 2D(at least 1K or 1 A )3D 4D 4H 4S 5C 5D 5S 6D
This hand shows the flaw of standard systems opposite strong-club-systems. You take away so much bidding room with the 2C-opening (BTw. With the 2Nt opener too)
	11
	18

	# 4. 
	It is easy to criticize the opening lead in the post mortem. But here I would open a club. You have 2.5 entries, so you should to set up your suit not partners. Yvon hit my suit, but I was lacking the intermediates and entries  to gain from the lead.
Btw. My 5 of S was not easy to read as come on signal. This hand is an argument to play UDCA. (I don’t play UDCA, because I’M used to play standard for 40 years and my old brain ………………………….)
Club lead defeats the bad contract. We should gain here 470 = 10 IMp
Karl and Mihailo bid straightforward the correct 4H-contract. Clap Clap clap
	10
	28

	# 5. 
	Karl and Mihailo went down unlucky in the good 50% game. Maybe the X should be warning, that the values are behind the opener. But in team it is ok to bid this hand.
We ended in 1D doubled. (Terrible bidding by opponents. Both the double and the final pass are not to understand.)
After the spade switch at trick 2 declarer should make 6-7 tricks. To trick 3 play the J of hearts. If opponents play trump, they will give away 1 of their trump tricks and if not you can ruff your heart loser. (this will be overruffed with a natural trump-trick)
Good defense will limit you to 6 tricks, but these opponents hadn’t defended so well, I’m sure. So we should score 180-50=130=4 Imps instead of losing 11
	15
	43


	# 6. 
	Opponents continued with terrible bidding and went overboard in very bad 3C while Karl and Mihailo found the reasonable (but against trumps 5-1 not to make) 2S.
	
	


	# 7. 
	I had no chance in the good 2S contract. Opponents cashed their 6 losers from the top.
Karl and Mihailo did very well in making 3 Club. This is not an easy contract. Opponents misdefended by 2 tricks. In the 4-card ending it is mandatory to play the Q of diamonds instead of the little heart. The hand not easy to bid in standard methods. I would prefer to bid 1Nt instead of 2D with Karls hand.
	
	

	# 8. 
	Opponents bid well at both tables. We missed the 5 club game. The Michaels cuebid is a must with the South hand. (6-5-20 is a great distribution) 
After 1S pass 4S pass pass it is questionable to compete.
BTW: To cover club Jack makes no sense. Declarer has 5 clubs at least. So there is nothing you can promote by partner. The situation is more difficult, if table hold Qxxx and the Q is led. Now you must decide, if partner holds stiff A or Jx. 
	8
	51

	# 9. 
	Another wrong decision from opponents let me make 140 in hearts, while Karl and Mihailo found and made the good 3 club contract. Bad defense gave me the 9. trick. I have 5 losers from the top.
	
	

	# 10. 
	Normal 3Nt at both tables. Yvon applied the principle of restricted choice and got the diamond situation right to make 2 overtricks. He gave up a trick in the endplay. Must cash club A and unblock the 9 in the 4.card ending. The has free finesse for the 12. trick. So we gained only 2 IMPs instead of 3.
	1
	52

	# 11. 
	Normal contract and lay at both tables.
	
	

	# 12. 
	Yvons light-opener put me in the position to double the final contract. Good decision from Yvon not to pull the double. You must hope for the best in such situations. Well done.
	
	

	# 13. 
	Nothing happened, but it makes no sense to play club Q on the lead and overtake it with the A. Play the spade finesse at trick 2 and you have 9 sure tricks. (3S 3H 1D and 2C) and have all time of the world to look for overtricks. You could establish clubs as well. Play low fro table take the A and another making 2S 3H 1D and 3C at least.
	
	

	# 14. 
	Misclick by Yvon I believe. Against a doubled slam you must cash your 2 sure winners and should not be greedy for more down. From the bidding and lead you know, that QJ in Clubs are the only HCP partner has. Declarer will make probably 5S and 5D tricks. (If partner surprisingly can stop the run of the diamonds just better. 
We lost 15 IMPs instead of gaining 850=13 IMPs
	28
	80

	# 15. 
	The game had no chance at both tables. Miksa missed to give partner a ruff in spades. The 9 could be only singleton or doubleton. So A and another spade are mandatory after heart K.
We could gain so 100 = 3 IMPs
To the play at our table: In the 6-card ending after spade K revealed the spade situation, declarer had to play on hearts and overruff, f RHO ruffs low. The 3. spade was agreat mistake. Now the contract would down 2 at least against good defense (Club instead of diamond A)
This is an interesting example of handling bad trump breaks. Try the different lines of play.
	3
	83

	# 16. 
	Yvon’s decision to sac in 6H was a good one though it cost us some IMPs. With singleton diamond instead of singleton Spade I’M only -3. I like his bid.
	
	

	# 17. 
	Bad luck for us, that our declarer found the Q of spades. After my psychic 2D he couldn’t find the heart situation. But at the other table after the 1-level overcall North should be played for the A of hearts. But the game was not bid here, so the overtrick didn’t matter. 
To bid game is not mandatory with Mihailo’s hand though he hold a 7 LTC hand. But it is worth a gametry imo. But if you bid it, you should make it lol.
	
	

	# 18. 
	Good defense by Yvon gave declarer no chance. Without the trump leads declarer makes 3S+2H+1C+2-3 ruffs in dummy. Karl and Mihailo did their best to defend 1N but had no chance. Push board.
	
	

	# 19. 
	Normal contract, normal play at both tables.
	
	

	# 20. 
	Our opponents bid a good 5D, Yvon had a very difficult lead. Choice of evils again. Seeing all hand he should lead a club, but Jxxx is terrible lead normally. I sympathize with his choice of a trump, even if it costed a trick.
Karl and Mihailo decided to play in NT. I would have passed Mihailo’s hand too. Partner promises 11+ HCP Together with my 17 we have 28 at least. There must be a play to establish one of our suit and very probably we have 3 stoppers in clubs.

Karls declarer play was not optimal. After the club lead he should count his tricks:

4D (hoping for 3-2) 2C 1S 1H and hoping for 1 of the major Qs. 
Diamonds is the suit with the most promise. This should be tried first. It is difficult to analyze, how it should be started. You can guarantee 4 tricks (if not 5.-0) by a safety (small to the A and back to the J. But you may try for five hoping for Qx and banging down AK or playing North for Q10x. But that is another story. 
First it must be clear: Diamonds should be attacked at trick 2. So you’ll make 9 or 10 tricks.
	12
	95


